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(1) é% BB BEFANY, @dceb QNnEs. Qegort I 8E) deond mwoda 1003 25 BIriess =y egent 1T 89 20GiE
mzésé 26 [oleln] 75 wé’r{@ﬁ &en 75 weﬁr{@éo %zz:b D wémfo WRIOR)TID @525 32N,

) Todromd DI 2 rbsarﬁ@d

() B3 TYE BRI 230 90 AR LR BN

4) emédﬁ%fab R'iraomowﬁod BN Agog 00Z3 BT FRWRNT. FBodeomd BB FREROTE BT L)
SR OO TRFINIIY é.racéemﬁd @dd@ oi:aeﬁ emédobdad wOiTaFOi) é BROBT mwm
PTRBTHO0Y, 3RCOVTOZ a’momosafu@ W - B édraoz? 63 o033 2 =TS %@ﬁ 3RedaT08 aﬂédd&
TPeaTN 33023@.

w2 333.6- (D@D @

(5)  3INS0Z FRoTROAT HVFTNY W} T BRBLRMOBOY,

DOO®

(6)  2omd BIM 20w T3, WEFINTY, ATEWAT VT, STTE [RE FROTWOIAT NI NEOTE
gcodedononie,

(7) 2.35) BROTVOWAT HVFT WHLROWVALD WIROY,

(8)  TosknFodT $Es FEROBMYR) 3F), P D PG FIVOT FRommoREE. BAOVT ZROTPOIAT
QUITNY W1} AT BRBRMRRY,

9) I3 BEFoD B3SRomd FeT T 02 I HUE Boed 51 FORTN s0 YR WBLNT wQode 313,
FIODF BRBLEB.

(10)  Boed SoodnrOE Sed BBIREOT .08 BIoD YT AR WINTT, 000 BB WRKO. TR e 2gY
NITOZ BIMY Wi Y3z BODZ BREO.

(11) B TZeD 2 [ chreRness wud L Wosdr &8ss wEmm TOeE §eot, AoLRWTT 33 5T SRELPTR.

(12)  IBeDQod SR drew /37 wEemes wif 23 D ABTHoDT) FS0NTT2 LT TOTTO NEIdTFRHTO
933599 éim@@boﬁod@ﬁ BWTTITT). 3037 TS PAT T 7 g JRoTRoRWes.

(13)  MSCE SwrZer39 33,080 ¢vgs Anes Zpesas 10 sned BreR | 21,/ $385 | IR03NYR) 87 s,
SpeotIo0ReR.

(14)  B0T s cheeR wFmw ©F PTNTOT B B, 20T FoRd WoTT By AWECH LLT,0DE BTN LTI,
08 BRECRIFTO.

(15)  Ropw 338 SRG @B RS BoNE RRDY, DI BEF FRRONG, Zww 3IE BRFROTYD FoQT B
W QONET TF FeRO.
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SECTION - 1
ENGLISH

Instructions for Q.01 to Q.03

01.

02.

03.

04.

Read the passage carefully and answer the following questions.

Mani is my favourite cat. Every morning mother gives her some milk.
Sometimes she catches a mouse near the garbage pit. She likes climbing
trees and watching the birds.

What does Mani catch?
(1) A pit (2) A mouse
(3) Milk (4) A bird

Find the odd term.

(A) Morning (B) Climbing (C) Watching
(1) ‘B’ correct (2) ‘C’ correct
(3) ‘A’ correct 4) ‘A, ‘B’, ‘C’ correct

Find the rhyming word for ‘Free’.
(1) She (2) Give
(3) Like (4) Tree

Fill in the blank with the correct alternative.

Malhar caught a big golden fish his net.
(1) 1in (2) on
(3) over (4) upon

SPACE FOR ROUGH WORK
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06.

07.

08.

Choose the correct comparison for as timid as .
(1) rabbit (2) elephant
(3) deer (4) wvulture

Look at the picture and select the correct conversation from the given options.

(1) A : Excuse me, uncle. Is this yours?
B : Oh, yes!

(2) A : Thank you so much for this gift.
B : You are welcome.

(3) A : Whats the time?
B : It's two Oclock.

(4) A : Can you please help me.
B : Sure.

Ladder : D:D:‘ : : English : ?

(1) E ) :F
(3) FIT_:_I_I_‘ (4) %

Find the smaller hidden word which indicates ‘Head of the unit’ from the
word - Handkerchief.

(1) Chick (2) Chief

(3) Hand (4) And

SPACE FOR ROUGH WORK
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09. Complete the word register.

Violin, Tabla, , .
(1) Erraser, Sponge (2) Scene, Museum
(3) Tambourine, Cymbals (4) Mixer, Sieve

10. Identify the game and select the correct option.

(1) Hop-scotch
(2) Hide and seek

(3) Marbles

- . (4) Skipping-rope

11.  Choose the correctly spelt word.
(1) Compitition
(2) Competition
(3) Compitision
(4) Competision

12.  Identify the underlined punctuation mark in the given sentence.
Ah! At last I will have some rice.
(1) Apostrophe
(2) Comma
(3) Question mark
(4) Exclamation mark

SPACE FOR ROUGH WORK
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13.

14.

15.

16.

17.

Select the proper option to complete the motto.

is wealth.
(1) Money
(2) Health
(3) Currency
(4) Growth

Fill in the blank with correct option.
This advertisement gives offer for

“13 ,. (1) Eid

g“ln;:/_ (2) Pune

?_,"-"“‘” L (3) Diwali
sunnY . | (4 Christmas

men’s fashion

Select the correct alternative.
work quickly.

(1) Lets’

(3) Let’s

Find the odd man out.
(1) Shiny star
(3) Clever house

festival.

2) let’s
(4) “Lets

(2) Tall tree
(4) OIld man

Which of the following i1s a request? Choose the correct option.

(1) May I come in?
(3) What are you doing?

(2) T don’t know.

(4) Please wait for me.

SPACE FOR ROUGH WORK
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18. Look at the chart and find the correct option.

Hand
I I | I |
Palm Elbow Fingers ?
(1) Beak (2) Tusk
(3) Stomach (4) Wrist
19.  Select the correct option.
February is the month of the year.
(1) second 2) 2
3) I (4) two

20. This clock shows the time
(1) quarter to four
(2) quarter past four

(3) quarter to three

(4) quarter past three

21. What will you write in the following timeline?

Present Past Future
d J d
Find ? Will find
(1) Will find (2) Found
(3) Finds (4) Was finding

SPACE FOR ROUGH WORK
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22,

23.

24.

2S.

At the time of examination, what will you say to your friend? Choose the

proper greeting.
(1) All the best.
(3) All is set.

Select the correct option.
Sunday comes after

(1) Monday

(3) Saturday

(2) All in one.
(4) All sit down.

(2) Thursday
(4) Tuesday

Choose the correct alternative for the given sentence.

gaurav was the captain of ‘a’ division’s team.

(1) Capital ‘G’ for gaurav
(2) Capital ‘A’ for ‘a’ division
(3) Capital ‘C’ for captain

(4) Capital ‘G’ for gaurav and capital ‘A’ for ‘a’ division.

Count the number of question marks in the following conversation.

A

B : Which game?

A : Off course! Basketball.
B : When?

A At 5 pm.

(1) 2

3) 0

: Hello, Ira speaking. Will you come to play with me?

2) 4
“4) 3

SPACE FOR ROUGH WORK
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26.

27.

28.

SECTION - II

INTELLIGENCE TEST

How many two letter words are more or less than the four letter words in the
given sentence?
“Raju helped Ram while he was climbing Shivneri Fort.”

(1) More by 1 (2) Less by 1 (3) More by 2 (4) Less by 2

In the given alphabet series which letters have occured same number of times?
KPGGPKGHTPDKGPTDP
() PG 2) KT 3 TD 4 DP

In the given number series how many times does ‘3’ occur before ‘5’ but ‘4’
does not occur after ‘5°?

(835245353465435356435354357)
(1) 7 times (2) 8 times (3) 6 times (4) 9 times

Q.29 to Q.33 Direction:

29.

30.

Select the odd term

(1) to see - to look (2) dirty - dusty
(3) hand - fore arm (4) poor - weak
A C A B
Q P R Q Q P P R
C B B A B C A C
R P R Q
(1) 2) 3) 4)

SPACE FOR ROUGH WORK
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26.

27.

28.

en - 11

WORWS JOcS

(S wh
"HIBe0 Eoeed TN TESTOB Totort ToROTY ST IRW,” B8 WFTY, WY,
©ITNOTO 5&.&03 TR LTONYTOR BUAWL R, FRRD W00 ézﬁgj WoRFI?
(D) 1 Ao (2 1 Iwsad () 2 303D @) 2 303D

DINNTIAPISTOIND GRS
83 ECRNOFONY, 03N LFCND IRNT O 200E?
(1) =, R 2) @, & 3) & = 4 @,

BINS Fosmy, WROFoDY, 5808 Booow 3’ 9d, wWS 5°C JoT 47 v, er
DR, BV WoRT?
@35245353465435356435354357)
(1) 7 = (2) 8 m© 3) 6 = @) 9 B

Rmusd: B3 29 00 33 T FLTN
Rooant RoBATE TR TedRFady MHTISRO.

29.

30.

(1) s - oD (2) ReOPE - AT
3) B3 - 33 4) waE3 - o3
A C A B
Q P R Q Q P P R
C B B A B A C
R P R Q
(1) (2) 3) 4)

SPACE FOR ROUGH WORK
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<0 (1) (2) 3) 4)
%g 32. (1) 4 2) 17 3) 7 4 12
%g; 33. (1) 111 (2) 482 (3) 231 (4) 362
Nl
N
é"ﬁ Q.34 and Q.35 Direction:
& Consider the pattern in the given number series and select the correct option
- to replace the question mark.
34. 53, 61, 68, 82, ?, 103
(1) 92 2) 91 3) 89 4) 95
35. 2,4,7,12, 19, 30, ?, 60
(1) 47 (2) 43 3) 49 (4) 45

36. In the given series of symbols select the correct group from the options to
replace the question mark.
<H+ X -, +x —< X -<+

O <x+- @ ’

X — < +
37.  Select the correct figure from the options to replace the question mark.

- <+ x,7?

3) <+ x — 4 >+ x -

Question Figures :

. +
+ A 5 o ‘)
A ° + )
+ A J
Answer Figures :
+ \Y/ A + A A
X +
(1) ) 3) 4)

SPACE FOR ROUGH WORK
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31.

32.
33.

O D o

(3) (4)
(1) 4 2) 17 (3) 7 4) 12
(1) 111 (2) 482 (3) 231 4) 362

Ao B3 34 Tne 35 T o

34.

3s.

36.

37.

083, BROFODNY, B0, RoES BRT[IY, ©T B FRowd BY WHCDL WITY,
WTOR #o@%aﬁas& Gulevtplaevelalelnl e.-soS%m@@.
53, 61, 68, 82, 7, 103

() 92 2 91 (3) 89 4) 95
2, 4, 7, 12, 19, 30, 7, 60
(1) 47 (2) 43 (3) 49 (4) 45
3IND WIHNY BRATODY, TIWTHEH AWREQ, 23T WIHNY NO0TIY, TOIE ODROT
50l [RRO.
<+ x -, + x - <, x - <+ , - <+ x .7
(H <x + - 2 x - <+ (3) <+ x - @) >+ x -
BITFFT WHODL WITY, 30N LT 7G0TI, TAIREORT S03), WRRO.
T TF BN
. A A + A N
A . n :
A L]
LUBTRZ SN
Ko e Xy Xy
x +
(1) ) 3) (4)

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

42.

Select the wrong term in the given number series.

r 3 5 7 9 11
326 11 > 17 > 27 > 3
n 2 @ i 3 @ 2

In the adjacent figure how many triangles are there?

(1) 8
2) 10
(3) 11
4 5

In the following question various faces of a cube are shown. Study them and
find the number which is on the face opposite to 5.

4 2 1 6

2 6 2 5

() 2 2) 6 3) 1 4) 4

If Horse is called Camel, Camel is called as Zebra, Zebra is called as Donkey,
then which animal is called as ‘Ship of Desert’.

(1) Horse (2) Camel (3) Donkey (4) Zebra

Ajay 1is taller than Ramesh but shorter than Sadu. Sameedha is taller than Ajay
but not as tall as Sadu. Who is the tallest?

(1) Sadu (2) Sameedha (3) Ajay (4) Ramesh

SPACE FOR ROUGH WORK

0802-Kannada Set-A 12 of 32 Contd...



ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

38.

39.

40.

41.

42.

3INT 0209, mRAFONYD FTNTOS ﬁdda’% TSR0,
1 3 5 7 9 11

376711717727 38
3 11 7 9

) = 2) — 3) — 4 =
(1) p 2) 1 ) 7 (4) Y
WO STEODY, 2,830, R, EBRETNVR?

(1 8

2) 10

3) 11

@ S

TN BIODY, 2,000 FIT FFey eS-wIed ASNYT 0> ERCOILHNT. &
SZIoD Q0BT SRR 5’ T wWob VBBV FRE AFT FHE W0 8w
908 QTIT)TD 0LWITR, TOITEOIDOT woﬁozs RNRO.

4 2 1 6

1 3 3 3
2 6 2 5

(1) 2 2) 6 G) 1 “4) 4

FOWITT wotd QR0TWO, WONR DPW, OO, DPW/N TS, H0TO FTWT
‘TOTHIROD BRMY 0T 03ROR FSOI0ZTI?
(1) 333 (2) 2ot 3) & 4) o

PBWODTO TROETIN0Z DTN, IWON0B YRS, BT ©5w030AN0T
DYTDT, ATOTRY, DFOVY; ToMTET DYZOTLR GBRTO DFTRTT?
(1) =D (2) Rew (3) ©@wod (4) TIoeD

SPACE FOR ROUGH WORK
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43.

44.

Five years ago John and Ahmed’s age was % and % times respectively of

Sharad’s age at that time. If John’s age was 8 yrs at that time then what is
the addition of ages of all three, two years later?

(1) 38 yrs (2) 53 yrs (3) 59 yrs (4) 40 yrs

There are two married sons and three grand children in Radha’s family. Find
minimum number of members in Radha’s family.

(1) 12 2) 11 3) 10 4) 9

Q.45 to Q.49 Direction:

45.

46.

In the given questions first term has a specific relation with the second term.
The same relation exists between third and fourth term. Identify the relation
and select the correct option to replace the question mark.

Maharashtra : Governor : : India : ?
(1) Prime Minister (2) President
(3) Chief Minister (4) Vice-President

M.
AR

d 7 < p

b e e d

> Xllb 4l

(1) 2) 3) 4

SPACE FOR ROUGH WORK
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43.

44.

=
27

45.

46.

DT WBY UBROTS VDD BRENG 2003 ROPRY, ITTI @ AROCHTYED
1 1

TOPAT SRFIWN T, TR, AT, WIS & IRODTYD SR, 8
SARAFOFT 0@ [AFNAIT0BT & BweRT [T Ie0ewd F?

(1) 38 JIRND (2) 53 IAFND  (3) 59 JIRFND  (4) 40 JIRENE
. TopRTesedd WOFOY, BT DT MOBITITH Y WRTTO WRTPF
200, TMET €0 WNONY, FRE 2083 SR, BIT BWT?

(1) 12 2) 11 3) 10 4 9

TI0T 45 00T 49 T IO AW :

NS BINGY, BeTOFeD Tone HTEID TIE BRT FowopRTdRe &Te
FOWOT WARTIA 303 YT TENGYT, & ﬂowocﬁﬁds@{ 30820 TONR
BIFEFT WD WITY, LR QVUZTRTY, TOIRFODNT SORD.

mmma@) ; DOWITO 11 TS 9
(1) TsRoes  (2) TS (3) [oFooy  (4)  euToIFES

Mo
R
d

> XZlh dls2

Y o b
D = = q
(1) (2) 3) (4)

SPACE FOR ROUGH WORK
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A B CDE

F G HTIIJ

KLMNDO

PQRST

UvwXyY

(1)
48. 13 : 169
(A) 225

47. .

v

<:::> ..

15 : ?
B) 1

(1) Only ‘A’ is correct

(3) ‘A’ and ‘B’ both are correct

49. 27 : 14
(1) 13

18 ¢ ?
2) 1

&)

@ @ @

4

‘A’ and ‘C’ both are correct

2) 3)
75 (C) 195
(2) Only ‘C’ is correct
4
2 3) 15

@) 17

50. In the adjoining figure, if one walks from ‘House’ (A) to ‘School’ (B) in the
direction of the arrows, how many times has he to turn to his left?

B School
. ]
House
(1) 6 times (2) 5 times (3) 11 times (4) 7 times
SPACE FOR ROUGH WORK
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UvwXyY

(3) ‘A’ 3y B’ Zocsnnds

)

48. 13 : 169
(A) 225

(1) 3Bexm®

49. 27 : 14 ::
(1) 13

50. 3N FEADY, &I (A) Do WG (B) BRAFST) SROZTNT, TMET

47. .

v

@ ..

@ )

&)

@ @ @

4

(2) 3)
15 : 9
(B) 175 (C) 195
‘A’ "oc3nng (2) B0 ‘C Boo3RAD

18 : 9

. Q) 12 3)

15

4 ‘A 3y ‘C’ Zoosends

4 17

VWO TR BRCMOTHTY, 2R, IO HWNER TONLIEFTNIR)TO?

B ()
A ]
(03)
(1) 6 = 2) 5 3 3) 11 Ao 4 7 3o
SPACE FOR ROUGH WORK
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51.

52.

53.

54.

Rahul says, “There are 6 boys standing in front of me in a row and Amit is
at the third position behind me.” Amit says, “l am standing next to the boy
who is exactly at the middle place in the row.” How many boys are standing

in the row?

(1) 18 2) 19 3) 21 4) 23

In a certain year if Independence day occurs on Tuesday then in the same
year which day would be the last day of the year?

(1) Sunday (2) Monday (3) Tuesday (4) Wednesday

The adjacent figure shows the number of players playing different games.
Observe the figure and find how many players play at least two games?

<«— Kabaddi

‘ (1) 34

Cricket — 2) 39
3) 21

4) 47

Hockey ——

Select the correct option to describe the given venn diagram.
(1) Male, Female, Doctors
(2) Numbers, Even numbers, Odd numbers
(3) Trees, Mango, Jackfruit
(4) Country, State, District

SPACE FOR ROUGH WORK
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S1.

52.

53.

54.

TOTOY TeT]S, 0o WIOTY, TZ W00 6 TOBWNTO V0T, I3 80T
SRTIOD TWTTQ, W8 V08P, $TT w8 TeERs, meRd BFTYTOS
TORONAR BRoDBROT @IS [T Q0TES.” TMES & WOTY, IR,
BIBWOROTITTH?

(1) 18 2) 19 3) 21 4) 23

2,000 B|RE ABOP, DT WoNYeeT Wornd & SREE FRI0D ORI SRS
29T QTIRYTO?
(1) TR=T (2) RRex0wT (3) =ong=moo (4) wWT=T

WO SFIODY, SLMTT Foa,0305) ERCOILANT. BWT HdeoT FIF TE
SUNPY ST SwMTT F0s, HR?

TS
(=)

‘ (1) 34

338 — 2) 39
3) 21

4) 47

Tod —

BINT ' ST SRNEIT [EOFN BB TOIRFOD §08 ROTIED.
(1) PR, &g, ®ET

(2) #o&%, #do#o@%, &ﬁdsm’o@%
(3) FE, SN, TOW
(4) Te3, ooy, BY

SPACE FOR ROUGH WORK
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Qz; 55. In the given square pattern, select the correct option to replace the question
QY

N mark.

2 11|67 |17 (1) 73

i (2) 6l

2 41 | ? | 47

%g 3) 59

0 23 131 | 5 (4) 53

N . .
éﬁ Q.56 to Q.60 Direction :
QY A set of terms is given at the beginning of the question. These terms have

some common characteristic. Find out the term from the alternatives that matches

the given set of terms.

56.  Step mother, Snow white, Spring time, ?
(1) Distrust (2) Foot print
(3) Black white (4) Day night

57. Hard, Challenging, Testing, ?
(1) Easy (2) Joyful
(3) Eftortless (4) Difficult

58. 25, 123, 62, 6, ?
(1) 341 (2) 216
(3) 511 (4) 218

59. 297, 135, 501, 189, ?
(1) 503 (2) 355
(3) 243 4) 781

SPACE FOR ROUGH WORK
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5S.

=
e

56.

57.

S8.

59.

8903 PIURG, BB uBDH MIBY, oIRE Rosd, LAPI?

11167117 ?% 73
2) 61

K)
41 | 2 | 47 3) 59
23 | 31| 5 (4) 53

3990T 56 90T 60 T IL0zN BRI

@%ﬁ%ﬁ ,0053TE), Fory mwm@ BNBRNT. DN DN mmmrﬁmm
2WOTD NOOF) ICIRTINIZT. B3 noownt Fedo wdd&q 383, WO CNRYOT
6:303% R[IEO.

SORRT, IR, TIIRY 2
(1) 38 (2) s83TT
(3) SZI? (4)  RE3-8R2

OIIT, BR, PZ ?
(1) 3% (2) Bods
3) I& (4) PIT

25, 123, 62, 6, 9
(1) 341 2) 216
3) 5i1 4) 218

297, 135, 501, 189, 9
(1) 503 (2) 355
(3) 243 4) 781

SPACE FOR ROUGH WORK
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60. Question Figures:

(YN /\ e

Answer Figures:

Q.61 and Q.62 Direction:
Select the mirror image of the given question figure from the options.

61. Question Figure:

752

2 3) 4)

(1)

Answer Figures:

Sc7

AeS | Sy | SGY

(D (2) 3) 4)
SPACE FOR ROUGH WORK
0802-Kannada Set-A 22 of 32 Contd...




ABCDE|FGHTIJ KLMNO|PQRST|UVWXY

3 mam

.\// ?

YUBTZINED

(1) (2) (3) 4)

B3 37008 61 0o% 62 T TeOTN ZAUR:
3INT TIT B0 TIRODYEI T TEN TEFRRYT DOWITR, TOTTF O
SZENV0T 08 BREO.

61. @5@5@ wgmgéﬁ@o

752 Se7 ) [AeS | Sy | | SGY

(1) 2 3) 4

SPACE FOR ROUGH WORK
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62.  Question Figure: Answer Figures:

% 7

Q.63 and Q.64 Direction:
Select the water image of the given question figure from the options.

63.  Question Figure: Answer Figures:
(1) 2) 3) “4)
64.  Question Figure: Answer Figures:

MNZ

NNX IANX| ZUM| |SUM

(M (2) 3) (4)

SPACE FOR ROUGH WORK
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62. TS LUZTHF SN
(1) 2) ) 4)

B3 3R08 63 00T 64 T FLTHN TAUR:

FSNS @5%%&033 QEOTY0D T30 TCR TEIRPTO @owwmﬂ TSR ORNPOT

0l BRRO.
63. TTFS NZTHYSN

(1) 2) 3) 4
64. TS LUZTIFENED

MNZ| |NAX] INNX] ZM

ANZ1Y

(1) (2) 3) 4)
SPACE FOR ROUGH WORK
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65. Identify the pattern and select the correct option to replace the question mark.

(1) 25 2) 6 3) 7 @) 17

Q.66 and Q.67 Direction :

Word BUT TAP BAT
Code A @ OV A | A X @

In a certain code language, symbols are used for different letters. The sequence
of the letters and of the symbols may not necessarily be the same. Observe

the code in the above frame and answer the questions.

66. Which symbol is represented by ‘U’?
(1 A 2 @
3 O (4) =

67. How is ‘TOP’ written in the given code language?
(H eV 2 VveLl
B AV 4 ANV

SPACE FOR ROUGH WORK
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65. 33N déor%%@oﬁo@ @zizsﬁ@qoja m@écﬁ@m o3 #o@% WTOT)T @omdﬁg{
SslesepldevelaleIn] woﬁaﬁ [IREO.

KLMNDO

SNV
CH NS GCH OGO GO GH)mS

4@

i

)L\
i

(1) 25 (2) 6 (3) 7 4) 17
B3 IRP0T 66 TN 67 T TN Tewd:

3, BUT TAP BAT

WBETTRT | A @ O | VW A | AL @

Hoe0F ATedoDE, BURED wITRE Wy WD IR ot AT
2oTSER, BTRY U8 BAER0E B3 3. 66 TR 670 LUZBHRY, ToIRFHOT

8:303% B[IEO.

66. ‘U 3 ©3o®RN IR WP WAPT?

(1) A
3) O

(2)

(4) =

67. H0edI Aodedd PRCHEY, TOP' 83 T Terd wICI000?
1) A@V
G) ZAV

(2)

Ve (]

@ ATV

SPACE FOR ROUGH WORK
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Q.68 and Q.69 Direction:

68.

69.

70.

71.

Select the identical figure to the question figure from the options.

Question Figure: Answer Figures:
A A A A A
CEIGENENEENEED
) 2) 3) “4)
Question Figure: Answer Figures:

NN NNV
(1) ) 4)
In a certain code language. If CAT = WYE, MEN = MUL and DOG = VKS

then how will you write the word which is opposite gender of ‘OX’?
(1) KB 2) WoOC (3) WKC (4) RBK

( ABCDE FGHIJ KLMNO PQRST UVWXY )

In the given alphabet series which letter is at the sixth position on the right
hand of the letter which is at fourth place to the left of the letter which is
nineth from the right hand side of the series?

() R (2) S 3 G 4 T

SPACE FOR ROUGH WORK
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I8 Z30902 68 00T 69 T TN AL
53

69.

70.

71.

3INT BIog et FOCIRN BROTE SFICLRY TOIRFODNPOT 08 BRREO.

Ioge SISCIECRT, B
A A A A A
G () () (D) (D
(1) (2) 3) 4)
TS T esgérieéo

(1) 3) “)

2000 AR0%eds RONY CAT = WYE, MEN = MUL @083 DOG = VKS
2030 WICNRNT. TWRT e PRHEDY, ‘0X 3 IR 23T, DonwTT
BT, Tert LTO30N0? |

(1) KB 2) WOC (3) WKC (4) RBK

(ABCDE FGHIJ KLMNO PQRST UVWXY)

R0e3 BTBROFENYOD LOWHOWOT 2.0%3ZF0I LFTT BWNEONOT TFHOD
©ITT WORR YTVT STIOL €T3 OIRRTO?
(1) R (2) S 3) G “4 T

SPACE FOR ROUGH WORK

0802-Kannada Set-A 29 of 32 P.T.O.

NI



L
R ABCDE|FGHIJ|KLMNO|PQRST|UVWXY

;{} 72. Letters c | M| p [ x| |w]|N]|]RrR]|P

[

§> Numbers | 7 8 5 4 2 9 6 0 3

N .

ék Observe the given table and solve.

TN . _

?\6 D+W=+P-N+1L)=7?

)\

é‘{k (1) R 2) P 3) L 4) N

N . . . . .

i 73.  Purva is facing the south-east direction and she turns to her left two times at
Q1 right angle and does Shirshasan. (up side down, with head down and legs up)

which direction is pointed by her right hand?
(1) South-west (2) North-east (3) South-east (4) North-west

74. You see an injured sparrow on your way to school. What will be your
immediate action?

(1) T will loudly call my friends.

(2) I will neglect the baby sparrow.

(3) I will inform the Head-master of my school about the incident.

(4) I will serve water from my water bottle and shift the sparrow to a safe
place.

75.  Whose action from the following is the most correct action?
(1) Raju collected all the garbage from the varanda and burnt it.
(2) Sameer threw the wet garbage in the dustbin.
(3) Sameedha collected all the garbage from her house in a bag.
(4) Suresh converted wet garbage into manure.

SPACE FOR ROUGH WORK
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72.

73.

74.

75.

@'t;dri%fo C M D K L W | N R P

03N 7 8 5 4 2 9 6 0 3

B0edT FTLIOD Q0T =RRO.
D+W=+P-N+1L)=ax ?
() R 2) P () L 4) N

sriod QI B0 [RE L0STIT FHDFOID IV O /MR TLWEREDTY,
STONTH T VT STFAT BRARTY, TMBT WY Wory, odns QI
2TOR)TO?

(1) Fpsos, 2) s23, (3) i (4) 03,

N ISR Beerdeen SFoDd Hoed MWD [oO0ID WRWRBOGT DOWITI),
SRERT BE AR OO B[RENO?

(1) =8 Jeede fE30r FEB[D.

(2) TR0 FER OOFITOB.

(3) B3 R0ed3 PUToNY, 0RO TeR[.

4) A3 PLONYTOR VTR MOYROOR DRV BTN, BOTEZ AR,

BINS TOIRFODNRYY, CIRET ZBTD DQFOZOR 03RETTNT?

(1) Towd LondBdQ FAVI) LENRRA BT

(2) RD0ETI> TRBIDRY, FAIT TR, TOITI.

(3) AT WOJODYEH TTDRY, L.oT3e TeIFoNY, Fonm BRRTW.
(4) ROTEB TATIOOT 1RLTHDY FOIROATIO.
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